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= (Ag +AR)E+ K + B)(A+E)C
s ABC+ABE + AAc + ABC H BAC+BEC
= A(BE+8)+ A (BE ~ B C)
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Don't cave gtates:
Possible *+ Wat wot all eatries (v a T T need
be included . This can occuvy ey
|. A bviovt Knwowledge + hatl cevtarn npotf stales
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- SR \3“0“’1\{ ranking exisfs 1w tapols svch as when
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OFftewn hqkar)ev\s +het the aP{:rofahaT@ waqy te 7rau/y
‘t‘eva 1o Slmlbln{‘y arf?ebm':c e X bress;ons /s noet obvious,
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Move than one way to pPreceed :

b ih yov L a0 T You couvld c?e’f canonical Forw

Lov 2. 1L yows Fo he exemnecl.
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